Part B Structured essay Questions (55 marks)

1.- (a) Write reactanits and products needed for following conversion
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(b) Draw the structural formula of 2,4-dinitrophenylhydrazine
® 24-229858nbcorndd  vom agpe gidw.
g_),)q_- cﬂm m‘g‘]é)g@ﬂn Smoﬂuﬂﬁ@@@ﬂga& L) J_\_\m\_o-:lm ) mmm ¥ ?

CHj; ICH COOH

(c) The molecular formula of valeric acid is CH; -

relevant stereoisomer’s 3
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write down the configuration of the
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7.(a) A solution contain 12.2 g/dm’ benzoic acid [C¢HsCOOH]. K, for benzoic acid is 6.25 x 107 mol dm”
Calculate the pH of the solution
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Write the overall cell reaction for above cell,
Calculate the voltage of the cell EM “/Mg 237V EA /A =4+0.80V
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(c) Find the pH of the 1.2 x 10 mol dm™ HCl solution Ky = 1% 10’ 4o g
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